. i B
(3.3.21 - Quick Maths )| B
A ©Divide each of these by 100 ©1/2 =7/6
o x10=2
3,000 500 200 100 S DXIV =
o 500 + =1,000 ©04cm=__ mm?
© Count forwards 3 from -5 =
o Complete - Explain
Why can't a square have a
15] | | | perimeter of 11cm?

Barvember Investigation
Join any o
Andy and Cho have some money.
n They each buy one of these T-shirts. e @ a @ fOUI' x

o numbers
“I\ 9"""9;1;;;7__},;‘;,;_ 9
L €18 r"

and find
They now have a total of €57 left.

their total.
If Andy had €60 at first, how much
money did Cho have to start with?

©E®
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®EE
@@E

{Flashback m

i mmmo

— 1) Culcukﬂ'e 8 of 32

) Find the difference between ; and |

3)  What fraction of the shape is shaded?

4)  Multiply 37 by 4

Rose
)

[ | | | | | | | | | | | | |
_Complete this as quickly as you can (verbally or i

e ———




Quick Review! -
Column Subiraction

Spot the mistakes!

214 07 5,688
2 3 3 & -1110|5

1 3] 4658

- Can you choose one and
explain the mistake - not just correct ite

Lea,m,t,n,a Ob,l ective:

R S S N A N
3.3.21 7 {T

Today / am Leammg to- solve problxam,s LrLVUivmg

calculating fractions of amounts.

— ~
7/ Key Vocabulary ¥
J J
- - fraction - denominator
1 - unit - out of |
| - non-unit 2 parts |
| - numerator - Qqu,al |
- improper fraction /

__Use the White Rose slides/video to
support these teaching slides before

g

Success Criteria

&

| will be successful if | can -

o /denttfg a quantity.

o Use division to f'trui one
o Find more than one pa,rt of

o Find fru,ctLons of large,r

N

 you complete the main task.

part of a quantity.
an amount/ qucmttty.

amounts and prohlem
solve.

/Z




Fractions of Amounts

- Word Problems

Read this part carefully to —

) know what you are
S calculating. —
N
I ]

-If Mike had 4/5 of a bag of 40 sweets and gave the restto -
~Steve, how much would Steve haves

— Read the question
[T— u )Jnderstand the
question

— € - :
method of calculation

— s solve the problem

A Answer the question

‘.I%" Check your answer

I

5

of 40= 40 divided by 5=8

4

CHECK
=8 x4 which is 32. So 8 more |

S

\|/vo|ulo|!:40(fhe whole|) |

Steve would have 8 sweetsas 5/5-4/5=1/5. 1/50f40is8 as |
divided the whole by the total parts (denominator). | checked B
how much Mike would have, which is 32. 32 + 8 = the total 40. |

Fractions of Amounts

- Missing Numbers

/

>4

When there are missing

numbers, you can still

work out one part BUT

This fime divide by the

- ——So the total —rnumerator and multiply by

Dilvid‘e by 2
T ™
2 \
3 OF =22
22
1111 .
— s is 33!

| the denominagfior,

If 2/5 of the numberis 14, then 1/4is 7. So the fotalis7 x5 = 35.

So 5/7 of 35 is the question here. Try as many as you can. -




Fractions of Amounts
- Missing Numbers

/

4

Zof my number is 14 3 of my number is 9 2 of my number is 18
5 4 10

Find 2 of my number Find - of my number Find * of my number
7 2 5

2 of my number is 12 2 of my number is 15 2 of my number is 24
9 8 10

ﬁnd_l of my number Find = of my number Find s of my number
2 5 4

When there are missing
“numbers, you can sfill
~work out one part BUT

—This time divide by the
-numerator and multiply by:-
_the denominator.

If 2/5 of the numberis 14, then 1/4is 7. So the fotalis7 x5 = 35.

So 5/7 of 35 is the question here. Try as many as you can.

{True or False?

N .
Iry to
/ explain your

rue or False ?

reasoning!

Rosie has 24 sweets and Dexter has 4 sweets.

r’. H
_ = ‘ I have eaten 3 of my sweets

Dexter

* — J I have eaten % of my sweets

Rosie

Rosie has more sweets left than Dexter.




Main Task A

_ Now complete '1.3.21 - Maths Main Task ABC. Gold

Extra Challenge - Fractions Inve

sﬁgoﬁons

Challenges

i & 4
| Teddy eats : of a pizza. Dora eats 5 7,3

How much do they eat altogether? B g

7 & 4 .
Teddy eats . of a pizza. Dora eats . less. Ty
How much do they eat altogether? i

7 3 - |-
Teddy eats 5 of a pizza. Dora eats : less. 7 3L
How much does Dora eat’ 8 8 L

How many ways can you make the statement correct! —




